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TEST X 

UNIT VI – INDIAN ECONOMY 
 

1. GNP equals 
a. NNP adjusted for inflation 
b. GDP adjusted for inflation 
c. GDP plus net income from abroad 
d. NNP plus net income from abroad. 
GNP apd; rkk;  
a. gztPf;fj;jpw;fhf rhp nra;ag;gl;l NNP 
b. gztPf;fj;jpw;fhf rhp nra;ag;gl;l GDP 
c. GDP kw;Wk; ntspehl;by; <l;lg;gl;l epfu tUkhdk;. 
d. NNP kw;Wk; ntspehl;by; <l;lg;gl;l epfu tUkhdk;. 

 
2. Primary sector consists of 

a. Agriculture b. Automobiles  c. Trade  d. Banking 
Kjd;ik Jiw ,jid cs;slf;fpaJ. 
a. Ntshz;ik b. jhdpaq;fpfs;  c. th;j;jfk; d. tq;fp 

 
3. Consider the following statements regarding the rate of saving is low in 

India for the following reason: 
I. Low per capita income. 
II. Poor performance and less contribution of public sector. 
III. Poor contribution of household sector. 
IV. Savings potential of the rural sector not tapped fully. 
Which one of the following statements are / correct? 
a. I, II, IV are correct   b. I, II and III are correct 
c. I, II, III and IV are correct d. I, III and IV are correct. 
gpd;tUk; fhuzq;fspdhy; ,e;jpahtpd; Nrkpg;G tpfpjk; Fiwthf cs;sJ. 
I. Fiwe;j jdpegh; tUkhdk;. 
II. kpff;Fiwe;j nray;jpwd; kw;Wk; nghJj;Jiwapd; Fiwthd gq;fspg;G 
III. tPLfs; Jiwapd; Fiwe;j gq;fspg;G. 
IV. fpuhkg;Gwj;Jiwapd; Nrkpg;Gj; jpwd; KOikahf gad;gLj;jg;gltpy;iy. 
rhpahd $w;Wfis fz;lwpf 
a. I>II kw;Wk; IV rhpahdit b. I> II kw;Wk; III rhpahdit 
c. I>II>III kw;Wk; IV rhpahit d. I> III kw;Wk; IV rhpahdit  
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4. Match the following 
Rounds of GATT  Years 
A. Geneva   1. 1986 – 1994 
B. Uruguay   2. 1973 – 1979 
C. Tokyo    3. 1950 – 1951 
D. U.K.   4. 1947 
nghUj;Jf 
GAAT Row;rp   tUlq;fs; 
A. n[dpth    1. 1986 – 1994 
B. cUFNt   2. 1973 – 1979 
C. Nlhf;fpNah   3. 1950 – 1951 
d. U.K    4. 1947 
 A B C D 
a. 4 1 2 3 
b. 4 1 3 2 
c. 4 3 1 2 
d. 1 2 3 4 
 

5. Consider the following statement on Gross National Happiness (GNH) 
i. The term GNH was coined in 1972 by a British journalist. 
ii. Jigme Singye Wangchuck the king of Bhutan included it in the 

constitution of Bhutan. 
iii. Sustainable and equitable socio- economic development and 

Environmental conservation are pillar of GNH 
iv. Psychological well – being, Health, Time use are some of the domain 

of GNH 
Which one of the following statements is/ are correct? 
a. i and ii are correct   b. ii and iii are correct 
c. only iv     d. All are correct 
gpd;tUk; $w;Wfis Ma;f 
i. GNH vd;w thh;j;ij 1972,y; xU gphpj;jhdpa gj;jphpf;ifahsuhy; 

cUthf;fg;gl;lJ. 
ii. G+lhd; murh; [pfNk rpq;fNa thq;`f; g+lhd; murpayikg;gpy; ,ij 

,izj;jhh;.  
iii. epiyahd kw;Wk; rkkhd r%f nghUshjhu tsh;r;rp kw;Wk; 

Rw;Wr;#oy; ghJfhg;G  Mfpait GNH,d; J}z;fs;. 
iv. cstpay; eyd;> cly; eyk;> Neuk; gad;ghL Mfpait GNH,d; rpy 

fsq;fs; MFk;. 
 rhpahd $w;Wfis fz;lwpf 
a. i kw;Wk; ii rhp   b. ii kw;Wk; iii rhp 

 c. iv kl;Lk;    d. midj;Jk; rhp 
 

6. India signed the Dunkel proposal in 
a. 1984  b. 1976  c. 1950  d. 1994 
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,e;jpah vg;NghJ lq;fy; jpl;lj;jpy; ifnaOj;jpl;lJ? 
a. 1984  b. 1976  c. 1950  d.1994 

 
7. Foreign Investment policy (FIP) was announced in 

 a. June 1991 b. July 1991  c. July – Aug- 1991 d. Aug 1991 
ntspehl;L KjyPl;Lf; nfhs;if (FIP)mwptpj;j Mz;L 
a. #d; 1991    b. #iy 1991  
c. #iy – Mf];l; 1991  d. Mf];l; 1991 

 
8. Consider the following statement on World Trade Organization 

I. The Final Act of the Uruguay Round was signed by the member 
nations of GATT in April 1994. 

II. An agreement to this effect was signed by 104 Countries. This 
Agreement came into force on January 1, 1995. 

III. At present there are 184 member countries 
IV. Its headquarters is in Geneva, Switzerland.  
Which one of the following statements is / are correct? 
a. I, II and III are correct  b. All are correct 
c. I, II and IV are correct  d. I, II are correct  
cyf th;j;jf epWtdk; gw;wpa gpd;tUk; $w;Wfis Ma;f 
I. 1994Mk; Mz;L Vg;uy; khjk; cyf th;j;jf mikg;ig (WTO) 

mikg;gjw;F fhl; (GATT) cWg;G ehLfs; cUFNt Rw;wpd; ,Wjp 
xg;ge;jj;jpy; ifnaOj;jpl;ld. 

II. ,e;j mikg;ig mky;gLj;jpl 104 cWg;gpdh;fshy; 
ifnaOj;jplg;gl;lJ. (WTO) cld;gbf;if [dthp 1> 1995 Kjy; 
eilKiwf;F te;jJ. 

III. jw;NghJ cyf th;j;jf mikg;gpy; 184 cWg;G ehLfs; cs;sJ 
IV. ,jd; jiyikafk; Rtl;rh;yhe;jpYs;s n[dpthtpy; mike;Js;sJ. 
rhpahd $w;Wfis fz;lwpf 
a. I> II kw;Wk; III rhp  b. midj;Jk; rhp 
c. I> II kw;Wk; IV rhp  d. I> II rhp 

 

9. Tamil Nadu integrated Nutrition programme was started in _________.  
a. 1980   b. 1975  c. 1955  d. 1985 

 jkpo;ehL xUq;fpize;j Cl;lrj;J jpl;lk; ________ ,y; njhlq;fg;gl;lJ.  
  a. 1980   b. 1975  c. 1955  d. 1985 
 

10. The National Food Security Act has been executed in the state of Tamilnadu 
since 
a. December 2016  b. January 2016 
c. November 2016  d. October 2016 
________ Kjy; Njrpa czT ghJfhg;G rl;lk; jkpo;ehl;by; 
nray;gLj;jg;gLfpwJ 
a. brk;gh; 2016   b. [dthp 2016 
c. etk;gh; 2016   d. mf;Nlhgh; 2016 
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11. Consider the following Statements 

Assertion (A): Purchasing power increases when price decreases and vice 
versa.  
Reason (R): The production of goods decline, the price of goods increases 
and then the purchasing power is affected. 
a. A is correct, R is false   
b. Both A and R are false statements 
c. A is correct, but R is not a correct explanation 
d. A is correct, R is the correct explanation of A.  
$w;W: tpiy Fiwe;jhy; thq;Fk; rf;jp mjpfhpf;fpwJ kw;Wk; ,J 
Neh;khwhdJ. 
fhuzk;: nghUl;fspd; cw;gj;jp Fiwe;J> tpiy mjpfhpg;gjhy; thq;Fk; jpwd; 
ghjpf;fg;gLfpwJ. 
a. $W;w rhpahdJ fhuzk; jtwhdJ. 
b. $w;W kw;Wk; fhuzk; ,uz;Lk; jtwhdJ. 
c. $w;W rhpahdJ Mdhy; fhuzk; rhpahd tpsf;fk; my;y 
d. $w;W rhpahdJ fhuzk; vd;gJ $w;wpd;; rhpahd tpsf;fk;  

 
12. GDP includes  

a. only those goods and services sold in the market. 
b. only the tangible goods 
c. only the agricultural goods. 
d. only the human resources 
GDP cs;slf;fpaJ. 
a. re;ijapy; tpw;gidahFk; nghUl;fs; kw;Wk; Nritfs; kl;Lk;. 
b. fz;zhy; ghh;f;ff;$ba kw;Wk; Efuf; $ba nghUl;fs; kl;Lk; 
c. Ntshz;ik nghUl;fs; kl;Lk;; 
d. kdpj tsq;fs; kl;Lk; 

 
13. The present Director General of WTO is ________ 

a. Peter Sutherland   b. Renato Ruggiero 
c. Dr. Ngozi okonjo-iweala   d. Pascal Lamy 
cyf th;j;jf epWtdj;jpd; jw;Nghija jiyth; _______ 
a. gPl;lh; rjh;yhd;L   b. nudhl;Nlh U[pNaNuh 
c. Dr. eNfhrp xf;fhQ;Nrh-Itpayh d. gh];fy; yhkp 
 

14. Consider the following Statement. 
i. Dr. Muthulakshmi Reddy Maternity benefit scheme financial 

assistance to the tune of Rs. 18,000 in being disbursed to poor 
pregnant women. 

ii. Universal Health Care Resolution under United Nations - 2012 
iii. Tamilnadu Health system Projects (TNHSP) has launched ambulance 

services free of cost (108) 
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Which one of the following statement is/ are correct? 
a. i, ii are correct  b. ii is correct 
c. i, ii, iii are correct d. All are correct 
gpd;tUk; $w;Wfisf; fUJf. 
i. lhf;lh; Kj;Jyl;Rkp nul;b kfg;NgW eyj;jpl;l epjpAjtp &.18>000/- 

tiu Viof; fh;g;gpzpg; ngz;fSf;F toq;fg;gLfpwJ. 
ii. If;fpa ehLfspd; jPh;khdj;jpd; fPo; midtUf;Fk; Rfhjhu trjp - 2012 
iii. jkpo;ehL Rfhjhuj; jpl;lq;fs; mikg;G (TNHSP) ,ytr Mk;Gyd;]; 

(108) Nritfisj; njhlq;fpAs;sd 
gpd;tUk; $w;Wfspy; rhpahdJ vJ/vit? 
a. i, ii rhpahdit   b. ii rhpahdJ 
c. i, ii, iii rhpahdit  d. midj;Jk; rhp 

 
15. Grouping of small land holding into a bigger one is called: 

a. Ceiling of land holding  b. Collectivization 
c. Cooperative Farming  d. Consolidation of land holding. 
Fiwe;j epyTilikfis xUq;fpizj;J nghpjhf;Fjy; vd;dntd;W 
miof;fg;gLfpwJ 
a. epy cr;rtuk;G   b. $l;lhz;ikahf;fy; 
c. $l;LwTg; gz;iz    d. epyTlik xUq;fpizg;G 
 

16. Which of the following profession belongs to the Tertiary Sector of 
economy? 
a. Fisherman b. Farmer   c. Factory Worker  d. Teacher 
fPo;fz;ltw;Ws; ve;jj; njhopy; nghUshjhu rhh;Gj; Jiwiar; rhh;e;jJ? 
a. kPdth;  b. tptrhap  c. njhopw;rhiy gzpahsh; d. Mrphpah; 

 
17. Production of a commodity, mostly through the natural process, is an 

activity in ________ sector. 
a. Primary sector  b. Secondary sector 
c. Tertiary serctor  d. Information technology  
ngUk;ghYk; ,aw;if rhh;e;Nj xU nghUis cw;gj;jp nra;tJ ve;jj; 
Jiwapd; nray;ghL? 
a. Kjd;ikj; Jiw  b. ,uz;lhk; Jiw 
c. rhh;Gj; Jiw   d. jfty; njhopy;El;gk; 

 
18. Economic Survey is published by the _____ 

a. National Sample Survey Organisation 
b. Ministry of Statistics and Planning 
c. Ministry of Finance 
d. Ministry of Commerce and Trade 
nghUshjhuf; fzf;nfLg;G ______________ My; ntspaplg;gLfpwJ 
a. Njrpa khjphp Ma;T mikg;G 
b. Gs;spapay; kw;Wk; jpl;lkply; mikr;rfk; 
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c. epjp mikr;rfk; 
d. thzpg kw;Wk; th;j;jf mikr;rfk; 

 
 
19. Find the incorrect option: 

1. Secondary sector provides employment to a large number of people. 
2. Secondary sector is also called the service sector. 
3. Secondary sector uses mechanical power and modern use of labour. 
4. Secondary sector produces goods for local and international consumers. 
a. 1 and 2  b. 2 only  c. 3 only  d. 1 only 
jtwhdtw;iwj; Njh;e;njLf;f: 
1. ,uz;lhk; Jiw mjpf mstpyhd kf;fSf;F Ntiytha;g;ig toq;FfpwJ 
2. ,uz;lhk; Jiw MdJ Nritj;Jiw vd;Wk; miof;fg;gLfpwJ. 
3. ,uz;lhk; Jiw ,ae;jpuj;ijAk; ciog;ghspfis etPd KiwapYk; 

gad;gLj;JfpwJ. 
4. ,uz;lhk; Jiw cs;@h; kw;Wk; rh;tNjr Efh;NthUf;fhd nghUl;fis 

cUthf;FfpwJ. 
a. 1 kw;Wk; 2 b. 2 kl;Lk;  c. 3 kl;Lk;  d. 1 kl;Lk; 
 

20. Find the incorrect option: 
a. MGNREA has been implemented in 625 districts of India. 
b. MGNREA guarantees 200 days of assured work to the people who are 

able and in need of work. 
c. If the government fails to provide employment, unemployment 

allowances has to be paid to the people. 
d. One third of the jobs are reserved for women. 
jtwhdtw;iwj; Njh;e;njLf;f: 
a. kfhj;kh fhe;jp Njrpa Cuf Ntiytha;g;G cWjpj;jpl;lk; (MGNREA) 

,e;jpahtpy; 625 khtl;lq;fspy; mky;gLj;jg;gl;Ls;sJ. 
b. MGNREA MdJ jpwd;nfhz;l kw;Wk; Ntiy Njitahd kf;fSf;F 200 

ehl;fs; Ntiytha;g;ig cWjp nra;fpwJ. 
c. murhdJ Ntiytha;g;gpid juj;jtwpdhy; mjw;fhd Cjpaj;ij 

murhq;fk; nfhLf;f Ntz;Lk;. 
d. mtw;wpy; %d;wpy; xU gq;F Ntiy ngz;fSf;fhf xJf;fg;gl;Ls;sJ. 

 

21. Find the incorrect option: 
a. Underemployment means more people engaged in a job than needed. 
b. Underemployment is found only in agricultural sector. 
c. Underemployment is also called disguised unemployment. 
d. Underemployment is also found in other sectors. 
jtwhdtw;iwj; Njh;e;njLf;f: 
a. Fiw Ntiyapd;ik vd;gJ Njitf;F mjpfkhd egh;fs; Ntiyapy; 

mkh;j;jg;gLtJ. 
b. Fiw Ntiyapd;ik Ntshz;ikj; Jiwapy; kl;LNk fhzg;gLfpwJ. 
c. Fiw Ntiyapd;ik kiwKf Ntiyapd;ik vd;Wk; miof;fg;gLfpwJ 
d. Fiw Ntiyapd;ik kw;w JiwfspYk; fhzg;gLfpwJ. 
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22. An organization whose aim is to liberate international trade is _________. 
a. World Bank     
b. International Monetary Fund (IMF) 
c. World Trade Organization (WTO)  
d. United Nations Organisation (UNO) 
rh;tNjr th;j;jfj;ij vspikg;gLj;Jtij Nehf;fkhff; nfhz;l 
mikg;G_________. 
a. cyf tq;fp 
b. rh;tNjr ehza epjpak; (IMF) 
c. cyf th;j;jf mikg;G (WTO) 
d. If;fpa ehLfs; mikg;G (UNO) 

 
23. What is the idea behind the development of special Economic Zones (SEZs) 

in India? 
a. To boost Indian industries 
b. To solve the problem of unemployment 
c. To produce handicrafts 
d. To attract foreign investment. 
,e;jpahtpy; rpwg;G nghUshjhu kz;lyq;fis cUthf;Ftjd; gpd;dzp 
Nehf;fq;fs; vd;d? 
a. ,e;jpaj; njhopw;rhiyfis Cf;Ftpg;gJ 
b. Ntiyapd;ik rpf;fiyj; jPh;g;gJ 
c. iftpidg;nghUl;fis cUthf;FtJ 
d. md;dpa KjyPLfis <h;g;gJ 

 
24. Removing barriers or restrictions set by the government is known as ____ 

a. Privatisation    b. Liberalisation   
c. Globalisation    d. Industrialisation 
murhq;fj;jhy; eph;zapf;fg;gl;l jilfs; my;yJ fl;Lg;ghLfis ePf;FtJ 
____ vd;W miof;fg;gLfpwJ. 
a. jdpahh;kakhf;fy;   b. jhuhskakhf;fy; 
c. cyfkakhf;fy;   d. njhopy;kakhf;fy; 

 
25. The task of collection of data in all the three sectors of the economy is done 

by which of the following organizations. 
a. NSSO   b. BPO  c. KPO  d. CSO 
nghUshjhuj;jpd; %d;W JiwfspYk; juTfisr; Nrfhpf;Fk; gzp gpd;tUk; 
ve;j mikg;ghy; nra;ag;gLfpwJ. 
a. Njrpa khjphp Ma;T ikak; 
b. tzpfr; nray;Kiw mayhf;fk; 
c. mwpT nray;Kiw mayhf;fk; 
d. kj;jpa Gs;spapay; mikg;G 
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26. The type of unemployment in which more number of people work than 
actually needed is known as  
a. Disguised unemployment b. Seasonal unemployment 
c. Underemployment   d. Over employed. 
Njitf;F mjpfkhd egh;fs; Ntiy nra;tJ> Ntiyapd;ik tiffspy; 
________ vd;W miof;fg;gLfpwJ 
a. kiwKf Ntiyapd;ik  b. gUtfhy Ntiyapd;ik 
c. Fiw Ntiyapd;ik   d. mjpfg;gbahNdhh; gzpakh;j;jy; 

 
27. What is the most important function of money? 

a. Used in banking transactions  b. Payment of loans 
c. Medium of exchange    d. Stock market exchange 
gzj;jpd; kpf Kf;fpa nray;ghL vd;d? 
a. tq;fpg; ghpth;j;jidfspy; gad;gLj;jg;gLfpwJ 
b. fld;fis nrYj;Jtjw;fhf 
c. ghpkhw;w Clfk; 
d. gq;Fr; re;ij ghpkhw;wk; 

 
28. Choose the reason for which MNCs are attracted to India for investments. 

a. India has educated English speaking people 
b. India has skilled professionals 
c. India has lot of natural resources 
d. All of the above 
gd;dhl;L epWtdq;fs; KjyPL nra;tjw;fhf ,e;jpahthy; <h;f;fg;gLk; 
fhuzq;fisj; Njh;e;njLf 
a. ,e;jpah Mq;fpyk; NgRk; kf;fis fw;gpj;Js;sJ 
b. ,e;jpah jpwiktha;e;jth;fis nfhz;Ls;sJ 
c. ,e;jpahtpy; mjpfg;gbahd ,aw;if tsq;fs; cs;sd 
d. NkNy cs;s midj;Jk; 

 
29. The consumer Protection Act, 1986 ensures that every Consumer in India 

should possess ____ Consumer rights. 
a. Four  b. Two   c. Ten   d. Six 
Efh;Nthh; ghJfhg;Gr; rl;lk; 1986> xt;nthU Efh;NthUf;Fk; _______________ 
Efh;Nthh; chpikfs; ,Ug;gij cWjp nra;fpwJ? 
a. ehd;F  b. ,uz;L   c. gj;J  d. MW 

 
30. When is the National Consumer’s Day observed in India? 

a. 10th November   b. 24th September 
c. 24th December  d. 10th December  
,e;jpahtpy; Njrpa Efh;Nthh; jpdk; vg;NghJ mDrhpf;fg;gLfpwJ? 
a. etk;gh; 10   b. nrg;lk;gh; 24  
c. brk;gh; 24   d. brk;gh; 10 
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31. The _____ impose tax on profession. 
a. Central Government     b. State Government 
c. Both State and Central Government  d. Nationalized banks 
 
 
njhopy; thp tpjpg;gJ _____ 
a. kj;jpa muR     b. khepy muR  
c. kj;jpa kw;Wk; khepy muR   d. Njrpakakhf;fg;gl;l tq;fpfs;  

 
32. The Monopolies and Restrictive Trade Practices Act (MRTP), 1969 was 

replaced by  
a. PURA model      
b. Competition Act 2002 
c. Foreign Exchange Regulation Act 2004   
d. Foreign Exchange Management Act 2000 
Kd;Dhpik kw;Wk; th;j;jf fl;Lg;ghl;L eilKiw rl;lk; 1969 –f;F gjpyhf 
ve;j rl;lk; cUthf;fg;gl;lJ? 
a. PURA khjphp     
b. Nghl;b rl;lk; (2002) 
c. me;epar; nryhtzp xOq;FKiw rl;lk; 2004 
d. me;epar; nryhtzp Nkyhz;ik rl;lk; 2000 

 
33. Mudra Bank is related to  

a. Housing Finance  b. Micro Finance   
c. Personal Loan   d. Vehicle Loan 
‘Kj;uh’ tq;fpAld; njhlh;GilaJ 
a. tPl;Lf;fld; epjp  b. Ez; epjp   
c. jdpegh; fld;   d. thfdf; fld; 
 

34. The Reserve Bank of India Act passed in  
a. 1921  b. 1925  c. 1929  d. 1934 
,e;jpa ika tq;fpapd; rl;lk; ,aw;wpa tUlk; 
a. 1921  b. 1925  c. 1929  d. 1934 

 
35. Which one has the sole right to issue bank notes of all denominations? 

a. RBI        
b. Ministry of Finance 
c. Cabinet Committee on Economic affairs 
d. Both (a) and (b) 
fPo;fz;ltw;Ws;> ,e;jpahtpy; gzj;ij mr;rpl;L ntspapLk; mjpfhuk; 
ahUilaJ?  
a. hprh;t; Ngq;f; Mg; ,e;jpah  
b. epjp mikr;rfk;  
c. nghUshjhu tptfhu mikr;rff; FO 
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d. a kw;Wk; b  
 
 
36. Which committee was constituted to assess the profitability of public sector 

banks? 
a. Kelkar Committee  b. Narasimhan Committee 
c. Jha Committee   d. Raja chelliah Committee 
nghJj;Jiw tq;fpfspd; yhgfuj;ij kjpg;gPL nra;tjw;fhf mikf;fg;gl;l 
FO  
a. Nfy;fh; FO   b. eurpk;kd; FO 
c. [h FO    d. uh[h nry;iyah FO 

 
37. In India, the Industrial Development Bank of India was started in the year 

a. 1964  b. 1963  c. 1965  d. 1961 
,e;jpahtpy;> ,e;jpa njhopy; tsh;r;rp tq;fp njhlq;fg;gl;l Mz;L  
a. 1964  b. 1963  c. 1965  d. 1961 

 
38. The population of a country will increase when 

a. Birth rates and death rates are high 
b. Birth rates and death rates are low  
c. Birth rates are high and death rates are low 
d. Birth rates are low and death rates are high 
xU ehl;by; kf;fs;njhif mjpfhpg;gJ. 
a. gpwg;G tPjKk;> ,wg;G tPjKk; mjpfkhf ,Uf;Fk; nghOJ 
b. gpwg;G> tPjKk;> ,wg;G tPjKk; Fiwthf ,Uf;Fk; nghOJ  
c. gpwg;G tPjk; mjpfkhfTk;> ,wg;G tPjk; FiwthfTk; ,Uf;Fk; nghOJ  
d. gpwg;G tPjk; FiwthfTk;> ,wg;G tPjk; mjpfkhfTk; ,Uf;Fk; nghOJ  

 
39. In 19th century population explosion occurred due to 

a. discovery of vaccination 
b. discovery of antibiotics 
c. uncontrolled reproduction 
d. discovery of vaccination and antibiotics 
19 Mk; E}w;whz;by; kf;fs; njhif ngUf;fk; mghpkpjkhdjw;F fhuzk; 
a. jLg;g+rpfspd; fz;Lgpbg;G    b. kUe;Jfspd; fz;Lgpbg;G 
c. kpjkpQ;rpa ,dg;ngUf;fk;   d. jLg;g+rp kw;Wk; kUe;Jfspd; fz;Lgpbg;G 

 
40. The process of industrialization is the essential pre-requisite for 

a. Generating employment    
b. inducing investment 
c. Achieving economic development  
d. increasing per capita income 
njhopy; kakhf;Fjy; ,jw;F kpf Kf;fpakhdJ MFk; 
a. Ntiytha;g;igg; ngUf;Fjy;    
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b. %yjdj;ijj; J}z;Ljy;  
c. nghUshjhu tsh;r;rpia miljy;   
d. jdpegh; tUkhdj;ij cah;jJjy; 

41. Consider the following statements 
According to the first stage of Demographic transition 
I. Death rates are high II. Low birth rate  III. Absence of medical aid 
Select the correct answer using the code given below: 
a. I and III only  b. I and II only c. II and III only  d. I, II and 
III 
fPo;f;fz;l $w;iw Muha;f.  
kf;fs; njhif khw;wj;jpd; Kjy; epiyapd; gb  
I. mjpfkhd ,wg;G tPjk;   II. Fiwthd gpwg;G tPjk;  
III. kUj;Jt cjtp ,y;yhik  
fPo;f;fz;ltw;Ws; rhpahd tpilia Njh;e;njLf;f  
a. I kw;Wk; III kl;Lk;    b. I kw;Wk; II kl;Lk;  
c. II kw;Wk; III kl;Lk;   d. I, II kw;Wk; III  

 
42. Match the following 

A. NFSA        1. 1982 
B. MGR Nutrition Meal Programme   2. 1975 
C. ICDS Project       3. 1980 
D. Tamilnadu Integrated Nutrition Programme 4. 2013 
nghUj;Jf 
A. NFSA        1. 1982 
B. MGR Cl;lr;rj;J czT jpl;lk;    2. 1975 
C. ICDS jpl;lk;       3. 1980 
D. jkpo;ehL xUq;fpizf;fg;gl;l Cl;lr;rj;J jpl;lk; 4. 2013 
 A B C D 
a. 4 1 3 2 
b. 1 4 2 3 
c. 4 1 2 3 
d. 2 3 1 4 
 

43. The Drought Prone Area Programme (DPAP) was launched in the year of  
a. 1953   b. 1963  c. 1973  d. 1967 
,e;jpahtpy; twl;rp ghjpg;Gg; gFjp jpl;lk; (DPAP) njhlq;fg;gl;l Mz;L  
a. 1953   b. 1963  c. 1973  d. 1967 

 
44. Arrange the following in a chronological order. 

1. Birth 2. Death  3. Funeral  4. Marriage 5. Education 
a. 1, 3, 4, 5, 2  b. 1, 5, 4, 2, 3 c. 2, 3, 4, 5, 1 d. 4, 5, 3, 1, 2 
gpd;tUtdtw;iw fhythpirg;gLj;Jf  
1. gpwg;G  2. ,wg;G 3. ,Wjp rlq;F 4. jpUkzk;  5. fy;tp 
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a. 1, 3, 4, 5, 2  b. 1, 5, 4, 2, 3 c. 2, 3, 4, 5, 1  d. 4, 5, 3, 1, 
2 

 
45. In which year the first All India census was completed? 

a. 1872  b. 1881  c. 1991  d. 2001 
KjyhtJ mfpy ,e;jpa kf;fs; njhif fzf;nfLg;G Kbf;fg;gl;l Mz;L 
vJ? 
a. 1872  b. 1881  c. 1991  d. 2001 

 
46. The Sarva Shiksha Abiyan programme is being implemented since 2001 for 

the significant objective of 
1. New schools     2. Residential facilities 
3. Transportation or Escort facilities 4. Uniform and free meals 
Which of the statement is incorrect? 
a. 1 and 2  b. 2 and 3  c. 3 and 1  d. 1 and 4 
rh;t rpf;~h mgpahd; jpl;lk; (midtUf;Fk; fy;tp jpl;lk;) 2001k; Mz;L 
Kjy; mKy;gLj;jg;gl;ljd; Kf;fpa Nehf;fk;. 
1. Gjpa gs;spfs; 
2. gs;spapy; jq;fp gbf;Fk; trjp Vw;gLj;Jjy; 
3. ghJfhg;Gld; $ba Nghf;Ftuj;J 
4. rPUil kw;Wk; kjpa czT 
Nkw;fz;l $w;wpy; vJ/vit jtwhdit? 
a. 1 kw;Wk; 2 b. 2 kw;Wk; 3 c. 3 kw;Wk; 1 d. 1 kw;Wk; 4 

 
47. Who appoints the Chairman of Finance Commission? 

a. President of India    b. Prime Minister of India  
c. Chairman of the Rajya Sabha  d. Speaker of the Lok Sabha  
,e;jpahtpd; epjp FO jiytiu epakpf;Fk; mjpfhuk; ngw;wth; ahh;? 
a. ,e;jpa FbauR jiytu;  b. ,e;jpa gpujk ke;jphp 
c. uh[;a rghtpd; rghehafh;  d. Nyhf; rghtpd; rghehafh; 
 

48. NITI Aayog came into existence in the place of 
a. Planning commission  b. Finance commission 
c. Banking commission   d. Education commission 
‘epjp MNahf;’ eilKiwf;F tUtjw;F Kd;G ,Ue;j mikg;G 
a. jpl;lf; FO b. epjpf; FO c. tq;fpf; FO  d. fy;tpf; FO 

 
49. Which one of the following is tax revenue for the states in India? 

a. Income tax b. Custom Duties  c. Excise Duties d. Land Revenue 
gpd;tUtdtw;Ws; vJ ,e;jpa khepyq;fSf;fhd thp tUtha;? 
a. tUkhd thp b. Rq;f thp   c. fyhy; thp d. epy tUtha; 

 
50. In July 2017, _______ was launched in India 

a. Demonetization    b. Goods and Service Tax 
c. Insolvency and Bankrupt code  d. Swachh Bharat Mission 
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,e;jpahtpy;> [{iy 2017-y; __________ mwpKfg;gLj;jg;gl;lJ. 
a. gz ePf;f Kiw    b. gz;lq;fs; kw;Wk; Nrit thp 
c. tq;fp nehbg;G epiy FwpaPL  d. J}a;ik ,e;jpah jpl;lk; 

 
 


